Term End Examination — December, 2017
Program Title : Rural Development
Academic Session : 2017-18

Course Title : Rural Social Problem

Course Code : RD-03

Time -3 hours
Full Marks -100

Answer any four questions from Group - 'A', any two questions from Group —'B'
and any three questions from Group —-'C'.
Group -'A'
QUG —'@’
(Answer any four questions each within 100 words)

696a161Q QISAIE dIR QeQ 6RS I 960 QAR Q 00 §IR FRIER IR AR

Q.No.1: Write short notes on: [Marks : 5x4 =20]
(a) What is rural poverty?
(@) Y QRIS KEEM @'Sl Qw?
(b) Mention any four reason of unemployment.
(S)6QEARCIN FASIA IERUT FISN QRIS EMS |
(c) What is infant mortality?;
(@) 96 7)1 GE6R @'S1 QF ?
(d) What is casteism?

(Q) QERIQ AL6M @'61 QF ?

(e) Explain four reason of Crime.
(&) UYARIA ¥ & RIS 6ME |
Group - 'B’
Qe =g’
(Answer any two questions each within 250 words)

6U6GISA QRG doo QR 66| 960 QAR 9 R0 §IR FRIER gl @ |

Q.No.2 [Marks : 10x2=20]
(a) Define the corruption. Discuss the consequence of corruption.

(@) Q61 Q 8§ JOIP @R 8 QIR IASIE FTLER 2CRR! Q! |
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(b) Write down the different cause of poverty.
(6) QIRQUEIR ¥R KIRS! GFa |

(c) Explain the types of unemployment in India.

(6) QIREER 6REAURGINR LR IRIR 6QQ 6 |

(d) What are the feature of Right to Education Ac.
(Q) 89 RIRIQ PAFIQ GR AV o 6mel |

(e) What are the major reasons of sex ration in Rural India.

(@) QIFNSI AUNEER MG ARTER FJ51 RIQS] Geia 6ME |
Group —-'C'
QeUel —'o
(Answer any three questions each within 500 words)
6I6aISIA G6RIT JElR AER 6MGl I YET QAR R0 0 FIR FRIER YaIR @R |

Q.No.3 [Marks : 20%3=60]

(a) Discuss the causes and remedial measure of rural industry in India.

(@) QUAGER FIETE] QSIPYRIRN RIRNE] 8 RIAURASIA QLI<h EMS! |

(b) Education in rural India has been grossly neglected. Do you think Right to Education
Act can bring a positive transformation.

(&) QNI ANGER AVNER 9AE! ZREENE | A ANRIQ 2RR 1 QIQPAER FOR @ QLIS 2] UG
6QIM QRS @ ?

(c) Discuss the various employment generation programme in rural India.

(GDGIFNSl AIAEER @f] AYB QYRR R 6AQR o 6RE |

(d) Dowry is the major social evil in India.

(@) QI006R 6<l0n Y2l 4@ @4 AFIRR QU | ACRITR QA |

(e) Discuss the causes and remedial measure of alcoholism in rural India.

(@) QIFNS! QINEER AR FIITINA RIRE] 8 AAURAES] DTAER ERG! |

(e) Describe the important function of Integrated Child Development Service (ICDS) to
improve the health condition of Rural people in India. schemes for Gram Panchayat
planning in Odisha?

(@) QN1 AFIRER FIFTST ERIRFAIPSA AYY 2RYIER RIS i 4@ Q6 9§ AaIs 6 daldy Joa

omat |
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